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Which of the following is NOT a common 0 gaall e (g AS e dpald il L Lea 6
characteristic to all animals?

All 7 1imals are multicellular LA saxie ) gl ren

All ~1imals have collagen in their bodies

All @imals have an endoskeleton OB JSe L Gl aaes
i . S S

All ~nimals take in food

What is the similarity between birds and mammals? 0l y ) salall s il Lo
i_ ............ E .

Botl@re endotherms 5 el Al i LS
?E-n-h—matti - - - - o

Bo! have mammary glands and hair

Bot" have mammary glands and feathers Ol 4l aae Ll LaadS

d
3 yadl 3 yate LIS LaadIS

Which characteristic is common to all invertebrates? Sl I pan o AS i) fpaladi Lo




What is adaptation? faill L

it that increases an organism’s chances
Jrvﬂng and reproducing

tth thas no effect on an organism'’s survive =D Sl ey o il L Gl 485 dia

it ! at makes it difficult for an organism’s survive

ait that shows up in an organism
Lis ..ot passed on to its offspring

a0 G Jain Y LSt s S el jeli A0 )5 das

Which of the following is NOT an innate behavior? 9 b & sl b Las 4

u@&idﬂhm‘écaaM‘C‘Jﬁi'&)ﬁ

A te Ypole’s ability to swim as soon as they hatch

M‘ J‘..ha! LT“" JL-ﬂJ*ﬂ]1 3‘)_‘5

A ¢ ‘cket’s ability to chirp

e sl L)) Olaasy e @) 5,08

A n Hth’s ability attraction to light

A rlng1key ability to open box by trial and error sl y 2 2l (3 0im =88 o o il 538




What type of electromagnetic waves ) dpalina g SI cila gall £ 53 L
that has the lowest energy?

faall, Jal Ll
COER .o S0 i
. | Microwave
Radio f R Ultrayiolet
. dnidl : 2N
e s
Radjy waves sl Gl ge

Gar marays

Vis™ le light

Which type of behavior is shown in the figure below? falial Jall 3 cpall 5Ll £ 5 (e g

Ag_g i@ssion agilaxdl
b
Pla: “ulness z el

Fee s all

.d
Mig 1tion 3 mell



Which animal does NOT hibernate? ol bl o iy Y b Les Ol sas 6l

Bat Jalaal)

Snc 'y owls

What does the sound wave produce as it passes through matter? Saladl e L 55 50 JOIA A8 paall A pull g 3L
—
Direction of Motion of

sound waves air particles

25

; eslenr et
= ',‘" a':,u' n',‘." ;;»l..*.n:_- 35_,:-
iSgall

Cre_ts and Troughs
Congpressions and rarefactions Galasy; bl
.C
Tra sverse wave
d

Co’ bination both transverse and longitudinal



How many spider legs? S Sliall Ja e <

o

<
o)

Using the table below, what is the correct Sruaall Al Lo ool Jgaal) Laaiud
conclusion?
(m/s) Opall 4oy saLal
Speed (m/s) Material
343 (20 °C) ¢! s¢ll
Air (20°C)
1481 (20 °C) Ll
Water (20°C)
5130 (20 °C) wasli
Iron (20°C)

G e e e oally gl iy

Sou d travels fastest through gases

Sou@d travels fastest through solids LAl ol e ey oally @ gl ey

T

ALl 8l gl yee Ao g Aol gl Jaiy

Sou- 1 travels slowest through liquids

3l JS o e gl ey el iy

Sour 'travels in the same speed through all materials



Which form of communication 9 g all 33 e g skt audill Joad il JIal e
includes pheromones?

Che@icals

Boc' ' language

Fac’ | expressions

Which number represents a notochord folial JSIL e pall pagaad) 3 (g el Jinll Jidd o3 6l
in the lancelet shown in the figure below?

g 7
o
—
mmmmm----d




Using the branching tree diagram below, ¢ oLl i) Ll ) i

Which group of animals is most closely related il T o 3T 2l il wal il ol
to segmented worms? i e

eaalal)
olasal) Glasad) olasa)
PRONTURE N | aald)
Flat- Round-  wbss,J) Segmented — —llaxl)
worms  worms  Mollusks  worms Arthropods
| . -
Ar’ ropods Gl

Fle vorms

Ll el

Ro dworms

What is the function of plant leaves? el Gl dala s le
e | @.I..Aj |
Making food
Al ae < 3l Jals I
The exchange of gases with the environment
4l 4 ) i Il
Anchor a plant in the soil

lar 11

lar "1

Lite dlll sl sl




Which of the following is true about the figure below? folinl JCal J g s by e 6

A yiann Olrga
Transverse waves
B A
s i
A welelength lower than B wavelength B Aa gl Jsb o Bl A dagall J5b |
b
Aw velength bigger than B wavelength B s sall J5h e ST A dsall Jsk
Hic" er frequency at B B aie AeYl 2 il
.d
Lo =rfrequency at A A xie JaY) aa il
Using the figure below, eoliaf J<aN Gasiud
Which of the following is the reason for seeing el O 8 paadll 4y s a b Laa (gl
the Sun at a higher place than it is reality? fa8l gl e 5n e
oadls e
Image of
the Sun .
Actual
Relfr@ion of Sunlight ol ¢ g LSS l
b
Scat ring of Sunlight el ¢ gz il
Ref” ction of Sunlight Ll ¢ g ul&a l
d
Diff ction of Sunlight



Sound intensity ismeasured in..................... e = Cpeal) B0 Gl

déc&el (dB) (db) Jssd) |

b
her* - el

me’ rs
sec 1ds
In the figure below, point Ais called ........cccccveveciiccieee e A Al aud ol 20
as,>
a1 Hand A
Wave direction
dorgall sl
; ia

® compression e Ll

® rarefaction e\




Using the diagram below, cobial aghadill o I Laadiud
In which flower part is an egg produced?

$aay ) it 358 3 o) jal (o

“  sefl

Anther > )

| Petal
R

What group do the plants shown A all L L) et ) e ganal) Lo
in the figures below belong to? el DSy Lo
Sl Obasdi b3

Ferns grow Horsetall

Flo ering seed plants Ay 5l 4y Al il

Not rascular plants

ile U Ll

Nor "owering seed plants A e U A Al el



In the window’s figure below, colial 32all) (S5 3
Which letter represents the material that $lg pabaay 53 ¢ gl JS i S Bolall Jiad i ja g
absorbs all the light that strikes with it?

o

n

o
O

Which of the following is an example of aaulaling 5 S Sl sl o Qe L Les 6

electromagnetic waves?

Ligkpwaves o goall Cila g |

Fla~ waving in a breeze



Which of the following is true about external fertilization? S AN laa¥! Jsa iss L Las 4

It ha_pens inside the female body

It er ~ures that an embryo is protected

It rllapens outside the female body

Itin >lves a small number of eggs

What are the two stages in the life cycle of each plant?

4

, Haploid spores l
Haploid plant H

Spo@phyte and gametophyte e sl il y azial) ) Ll

Cor * and gametophyte el skl L Al

Cor and seed ol g s Al

Se’ 1and sporophyte & sl a5 3
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